No.
20244F 4H 1H

HFPEFEHRASH

S BT S THARESERTREI 6 7 8 il
TEL (0823) 45—5199
FAX (0823) 45—5192

FlEatm A4 m R

VF 4= A bar sy — NEAEEE

IR

™ # 4 W

At 1 Hit

N T e R

. L
REE OB o) T o)

3/)) - OFTIA A EPT

Aic & ) B4 7t ES 1
27 =10 O 2777 Xi$2x777 Te= HEM O RSHE | UV ORI
SO 5| FEFHIC K DAL — cm mm WX DR
EL ] 21 8 40 BB
ffEE:Q v X v b O f OE MO RE R HE M o & KT MO RE R
BAln M o W OE GRRCER g%g%g;gﬁgw B
BRI NISHZ L Ky A B L FE R Ry ) )= O BATRFEE — kg/md
K o X B[ GHMEMCEE (o2 U — ol g —C
TE AT [IRANA O TEER K OV it | A BE & OVC & 2R A Rl k' A > b B> BAREO EIR 60 %
%@ﬁ.m W & H & 0.30ke/md — |HArAK&ED HEMFE O LR — ke/nd
S FEORE R T DM 28 B | Bt/ B0 AEED FRUIREED LR — ke/nd
ze A & 1.5 % | EEE DR T IR E —cm
fifi i M B c)
AL MNEEZEL B#ETE AL MRS (%% g/cf | 3.02 NasOeq %  d)] —
RFAO 04 — Tk — B oo — |Naz0eq e) —
BRI nn — %H — B g/cm — % —
1 ; ) TRVIBUREIC L ARS £) PRI D K & SRR T | B g/ad |0k ED
o] B H B A e T Rl o) SR b S ER% i)
HO|hn TrY Jis 5 W ST X T I 81072 | A b SRTE 0~ 5mm 2.80 |2.53]2.57 —
(@) - — - — — - - | - -
1%1(©) — — — — — — — — —
H|D 2005 L O B SEWRARRK S T B AL A L R—1E]5. 0~20. 0 61.0 2.6712.69| 1.0+1.0
%®4020 T I VR ST TS BT ik G AL 20. 0~40. 0 — 2.65|2.67| 1.0+1.0
@ _ _ _ _ _ _ _ _ _
5@ - — - — — - - | - -
TR0 w480 AEJB/K A (BEYENE 1 7) Na,0e 0.5
TR A1 @ |4 - T — o Tl =
RRHG — — ? —
B OHALEK)] — %k DX 5y 1) [ F Ak BTy EESEm)| — %
BISCE R O En) M B ] — BB M — LZEILAT v OKOBHD A -
i A&  #Fo) ke/md
PR R %) K H B iz L B g B Alp)
©) ©) ©) @ ® ©) @) ® @ ® @) ®
256 — — 151 | 779 | — — [ 669 | 446 | — — | 2.56 — —
85 — — 151 | 303 | — — | 249 | 167 | — —
KEAV R g 59 % | KA b . Q) — %M B KM g 42.1 %
ﬁ$i§ﬁﬂwgiﬁéﬁéﬂ,ﬂﬁﬂ@ﬁﬁ%ﬁowfu,%Dﬁtﬁ“ﬁ?é%ﬁﬂbéo %z@i%ééﬂz‘
(EERS)  HEMD:@ 60.0:40.0
i’ié:jriﬁ\{lg:ti*:)/\% :;Z&;!T\J!’r WRI TR EEZRAT S,
A7y VEWEE 1 %RMTHEAT2HEICE, 1 %KM LRAT S,

B, RITAKFREEM IR OKE AV MEOWFE S 2TRAT 5.,



Bl & 5 B E
Aic = D B4 it ES Gs
=Y ESRN) N 277 XATATV7 Tn—- B M O K~THE AN OFESA
WOk g | IS & B R - cm mm (AT
RSt 21 8 40 BB
FEEETE W/ C=60% ATR=4. 5% #im28 H
(1) Zdfri(v) VITHPOEREICEIY v =10 %
(2) Bl A58 (m)
al= o Ofg,v = 1.214 a2 = . 13.0.\/ = 1.209
100 1004/ 3
m = a1 X SL = 1.214 X 21 = 25.5 N/mf
Yo>T m = 25.5 N/mt
(3)/kEA L FEE(W/C) m = -15.5 + 24.2 X C/W
W/C = 24.2 = (25.5 + 15.5) X 100 = 59 % = [60%(J:BE1 )]
"W/C = %
(4) BALKE (W) YT OERIC otb W = 151 ke /mi
(5)HpNrE A FE(C) C =W =+~ (W/C) X 100 = 151 = 59 X 100 = 256 keg/m
Cv= C + 2 = 9256 +~ 3.02 = 85 2 /m
(6) 22518 (A) A = 4.5 % X 1000 = 45 £ /mi
(T EBEMHEME(G) HTHOFERKICLY 7EFFE = 0.682 m/m EFER = 61.0 %
Gv = 0.682 X 1000 X 61.0 = 100 = 416 2 /m
G = Gv X REEE = 416 X 2.68 = 1115 kg/m
Gl = G X 60.0 % = 669 keg/m
G2 =G — GI = 446 kg/m
(8) HALMIEHM £ (S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 697 = 303 2 /m
S = Sv X FWEKE = 303 X 2.57 = 779 kg/m
(9)MEME(s/a) s/a = Sv — (Gv+Sv) X 100 = 42.1 %
(10) ALREFAIE (Ad) Ad = C X ¥IE X ZHE = 256 X 1.0000 % X 1.00 = 2.56 kg/m
i A& £ ke /mi
. N T 7§ gt T iz L 48 17 % gi| 7l
et Te 1 X oo e 0o 0ol 0 © 0
256 — — 151 | 779 — — 669 | 446 — — 2.56 — —
85 — — 151 | 303 — — 249 | 167 — —
KAy M| 59% M B M E| 4.1 % RO
i M | (ERED) HEHMO:@ 60.0:40. 0

1+




